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BOTANY

Course ID : 31318 Course Code : SPBOT-304C-1C(T)

Course Title: Genetics and Plant Breeding

Time:  1 Hour 15 Minutes Full Marks: 25

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five questions: 1×5=5

Œ˚ Œfl¬±ÀÚ± Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –
(a) What is meant by dominant and recessive character?

¬√õ∂fl¬È¬ › √õ∂BÂiß Δıø˙©Ü… ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑
(b) What is test cross?

ŒÈ¬à¬ Sê¸ ¬fl¬œ∑
(c) What is multiple allele? Give example.

˜±øå¬¬Û˘ ’…±ø˘˘ fl¬œ∑ Î¬◊±˝ı˛Ì ±›/
(d) What is the significance of crossing over?

Sêø¸— ›ˆ¬±Àı˛ı˛ &èQ fl¬œ∑
(e) What is frame shift mutation?

ŒÙË¬˜ ø¸ÙÈ¬ ø˜Î¬◊ÀÈ¬˙Ú fl¬±Àfl¬ ıÀ˘∑
(f) What is emasculation?

¬Û≈— ıg¬…±Qfl¬ı˛Ì fl¬œ∑
(g) What is hybridisation?

¸—fl¬ı˛±˚˛Ú fl¬±Àfl¬ ıÀ˘∑
(h) What is clone?

Œflv¬±Ú fl¬±Àfl¬ ıÀ˘∑

2. Answer any two questions: 5×2=10

Œ˚ Œfl¬±ÀÚ± ≈øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –
(a) What is incomplete dominance? Describe with suitable example.

ë’¸•Û”Ì«í √õ∂fl¬È¬Ó¬± fl¬œ∑ Î¬◊±˝ı˛Ì ¸˝À˚±À· Œı±Á¬±›/
(b) Describe different methods of sex determination in plants with examples.

Î¬◊øæÀı˛ Œ˚ÃÚÓ¬± øÚÒ«±ı˛ÀÌı˛ øıøˆ¬iß ¬ÛX¬øÓ¬&ø˘ Î¬◊±˝ı˛Ì ¸˝À˚±À· ’±À˘±‰¬Ú± fl¬Àı˛±/
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(c) Write the advantages and disadvantages of self and cross pollination.

¶§¬Ûı˛±· ¸—À˚±· › ˝◊Ó¬ı˛ ¬Ûı˛±· ¸—À˚±À·ı˛ ≈̧øıÒ± › ’ ≈̧øıÒ±&ø˘ Œ˘À‡±/
(d) What is heterosis? Write its applications. 2+3=5

Œ˝ÀÈ¬Àı˛±ø¸¸ fl¬œ∑ ¤ı˛ ı…ı˝±ı˛&ø˘ Œ˘À‡±/

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –
(a) Describe Mendel’s dihybrid cross. What is the conclusion of this experiment? 8+2=10

Œ˜À`¬À˘ı˛ øZ¸—fl¬ı˛ ÊÚÚ ¬Ûı˛œé¬±øÈ¬ ıÌ«Ú± fl¬Àı˛±/ ¤ı˛ ŒÔÀfl¬ fl¬œ ø¸X¬±ÀôL√ Î¬◊¬ÛÚœÓ¬ ˝›˚˛± ˚±˚˛∑

(b) What is aneuploidy? Classify aneuploidy. Write the uses of aneuploidy. 2+5+3=10

’…±Ú≈õ≠˚˛øÎ¬ fl¬±Àfl¬ ıÀ˘∑ ’…±Ú≈õ≠˚˛øÎ¬ı˛ Œ|øÌøıÚ…±¸ fl¬Àı˛±/ ¤ı˛ ı…ı˝±ı˛ Œ˘À‡±/
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